

Homological dimensions of simple modules over artinian rings

Shiping Liu
Université de Sherbrooke
Canada

The Seventh China-Japan-Korea
International Conference on Ring Theory

July 1 - 6, 2015

Motivation

Λ : an artinian ring.

Motivation

Λ : an artinian ring.

$\text{mod } \Lambda$: finitely generated right Λ -modules.

Motivation

Λ : an artinian ring.

$\text{mod } \Lambda$: finitely generated right Λ -modules.

Problem

Find invariants for determining whether $\text{gdim } \Lambda$ is finite or infinite.

Motivation

Λ : an artinian ring.

$\text{mod } \Lambda$: finitely generated right Λ -modules.

Problem

Find invariants for determining whether $\text{gdim } \Lambda$ is finite or infinite.

Theorem (Happel)

If Λ is artin algebra with $\text{gdim}(\Lambda) < \infty$, then $D^b(\text{mod } \Lambda)$ has almost split triangles.

Reduction to simple modules

$$\text{gdim}(\Lambda) = \sup\{\text{pdim}(S) \mid S \text{ simple } \Lambda\text{-module}\}$$

Reduction to simple modules

$$\begin{aligned} \text{gdim}(\Lambda) &= \sup\{\text{pdim}(S) \mid S \text{ simple } \Lambda\text{-module}\} \\ &= \sup\{\text{idim}(S) \mid S \text{ simple } \Lambda\text{-module}\}. \end{aligned}$$

Reduction to simple modules

$$\begin{aligned} \text{gdim}(\Lambda) &= \sup\{\text{pdim}(S) \mid S \text{ simple } \Lambda\text{-module}\} \\ &= \sup\{\text{idim}(S) \mid S \text{ simple } \Lambda\text{-module}\}. \end{aligned}$$

Observation

To study $\text{gdim}(\Lambda)$, it suffices to consider the homological dimensions of simple modules.

A Morita invariant: Extension quiver

A Morita invariant: Extension quiver

Definition

The *extension quiver* $E(\Lambda)$ is an oriented graph:

A Morita invariant: Extension quiver

Definition

The *extension quiver* $E(\Lambda)$ is an oriented graph:

- Vertices: the non-isomorphic simple Λ -modules;

A Morita invariant: Extension quiver

Definition

The *extension quiver* $E(\Lambda)$ is an oriented graph:

- Vertices: the non-isomorphic simple Λ -modules;
- \exists arrow $S \rightarrow T$ in $E(\Lambda) \Leftrightarrow \text{Ext}_{\Lambda}^1(S, T) \neq 0$.

A Morita invariant: Extension quiver

Definition

The *extension quiver* $E(\Lambda)$ is an oriented graph:

- Vertices: the non-isomorphic simple Λ -modules;
- \exists arrow $S \rightarrow T$ in $E(\Lambda) \Leftrightarrow \text{Ext}_{\Lambda}^1(S, T) \neq 0$.

Example

- 1 If $\Lambda = k$ is a field, then

$$E(\Lambda) : \bullet$$

A Morita invariant: Extension quiver

Definition

The *extension quiver* $E(\Lambda)$ is an oriented graph:

- Vertices: the non-isomorphic simple Λ -modules;
- \exists arrow $S \rightarrow T$ in $E(\Lambda) \Leftrightarrow \text{Ext}_{\Lambda}^1(S, T) \neq 0$.

Example

- ① If $\Lambda = k$ is a field, then

$$E(\Lambda) : \quad \bullet$$

- ② If $\Lambda = k[x]/\langle x^2 \rangle$, then

$$E(\Lambda) : \quad \bullet \begin{array}{c} \curvearrowright \end{array}$$

Objective

Using combinatorial properties of $E(\Lambda)$ to determine whether $\text{gdim}(\Lambda)$ is finite or infinite.

Sufficient condition for $\text{gdim}(\Lambda)$ to be finite

Proposition

If $E(\Lambda)$ has no oriented cycle, then $\text{gdim}(\Lambda) < \infty$.

Sufficient condition for $\text{gdim}(\Lambda)$ to be finite

Proposition

If $E(\Lambda)$ has no oriented cycle, then $\text{gdim}(\Lambda) < \infty$.

REMARK. The converse is not true.

Sufficient condition for $\text{gdim}(\Lambda)$ to be finite

Proposition

If $E(\Lambda)$ has no oriented cycle, then $\text{gdim}(\Lambda) < \infty$.

REMARK. The converse is not true.

Example

Let Λ be given by the quiver with relations:

$$Q : \begin{array}{ccc} & \alpha & \\ a & \rightleftarrows & b \\ & \beta & \end{array}, \quad \alpha\beta = 0$$

Sufficient condition for $\text{gdim}(\Lambda)$ to be finite

Proposition

If $E(\Lambda)$ has no oriented cycle, then $\text{gdim}(\Lambda) < \infty$.

REMARK. The converse is not true.

Example

Let Λ be given by the quiver with relations:

$$Q : \begin{array}{ccc} & \alpha & \\ a & \xrightarrow{\quad} & b \\ & \beta & \end{array}, \quad \alpha\beta = 0$$

Then $E(\Lambda) = Q$ and $\text{gdim}(\Lambda) = 2$.

Conjectures

No Loop Conjecture (Zacharia, 1985)

- If $\text{gdim}(\Lambda) < \infty$, then $E(\Lambda)$ has no loop;

Conjectures

No Loop Conjecture (Zacharia, 1985)

- If $\text{gdim}(\Lambda) < \infty$, then $E(\Lambda)$ has no loop;
- If $E(\Lambda)$ has a loop at some simple S , then $\text{pdim}(T) = \infty$ for some simple T .

Conjectures

No Loop Conjecture (Zacharia, 1985)

- If $\text{gdim}(\Lambda) < \infty$, then $E(\Lambda)$ has no loop;
- If $E(\Lambda)$ has a loop at some simple S , then $\text{pdim}(T) = \infty$ for some simple T .

Strong No Loop Conjecture (Zacharia, 1990)

- If $E(\Lambda)$ has a loop at some S , then $\text{pdim}(S) = \infty$.

Conjectures

No Loop Conjecture (Zacharia, 1985)

- If $\text{gdim}(\Lambda) < \infty$, then $E(\Lambda)$ has no loop;
- If $E(\Lambda)$ has a loop at some simple S , then $\text{pdim}(T) = \infty$ for some simple T .

Strong No Loop Conjecture (Zacharia, 1990)

- If $E(\Lambda)$ has a loop at some S , then $\text{pdim}(S) = \infty$.
- If $\text{pdim}(S) < \infty$, then $E(\Lambda)$ has no loop at S .

Example

① Let $\Lambda = k[x]/\langle x^2 \rangle$.

Example

- 1 Let $\Lambda = k[x]/\langle x^2 \rangle$.
- 2 We have seen that

$$E(\Lambda) : \bullet \curvearrowright$$

Example

- 1 Let $\Lambda = k[x]/\langle x^2 \rangle$.
- 2 We have seen that

$$E(\Lambda) : \quad \bullet \curvearrowright$$

- 3 The simple module k has minimal projective resolution

$$\dots \longrightarrow \Lambda \xrightarrow{x} \Lambda \xrightarrow{x} \Lambda \longrightarrow k \longrightarrow 0.$$

Objective of this talk

- 1 We shall present a proof of the SNLC (Igusa-Liu-Paquette, 2011) for finite dimensional algebras over an algebraically closed field.

Objective of this talk

- 1 We shall present a proof of the SNLC (Igusa-Liu-Paquette, 2011) for finite dimensional algebras over an algebraically closed field.
- 2 This proof is a localization of a technique used by Lenzing (1969) to study the Hochschild homology.

Objective of this talk

- 1 We shall present a proof of the SNLC (Igusa-Liu-Paquette, 2011) for finite dimensional algebras over an algebraically closed field.
- 2 This proof is a localization of a technique used by Lenzing (1969) to study the Hochschild homology.
- 3 This result of Lenzing's implies the NLC for finite dimensional algebras over an algebraically closed field (Igusa, 1990).

Notation

J : the Jacobson radical of Λ .

Notation

J : the Jacobson radical of Λ .

e : a primitive idempotent in Λ .

Notation

J : the Jacobson radical of Λ .

e : a primitive idempotent in Λ .

$S_e = e\Lambda/eJ$, the simple Λ -module supported by e .

An algebraic interpretation of a loop

An algebraic interpretation of a loop

Lemma

Let $M \in \text{mod } \Lambda$ have minimal projective resolution

$$\cdots \rightarrow P_n \rightarrow P_{n-1} \rightarrow \cdots \rightarrow P_1 \rightarrow P_0 \rightarrow M \rightarrow 0.$$

For $n > 0$, the following are equivalent.

An algebraic interpretation of a loop

Lemma

Let $M \in \text{mod } \Lambda$ have minimal projective resolution

$$\cdots \rightarrow P_n \rightarrow P_{n-1} \rightarrow \cdots \rightarrow P_1 \rightarrow P_0 \rightarrow M \rightarrow 0.$$

For $n > 0$, the following are equivalent.

- 1 $\text{Ext}^n(M, S_e) \neq 0$.

An algebraic interpretation of a loop

Lemma

Let $M \in \text{mod } \Lambda$ have minimal projective resolution

$$\cdots \rightarrow P_n \rightarrow P_{n-1} \rightarrow \cdots \rightarrow P_1 \rightarrow P_0 \rightarrow M \rightarrow 0.$$

For $n > 0$, the following are equivalent.

- 1 $\text{Ext}^n(M, S_e) \neq 0$.
- 2 $e\Lambda$ is direct summand of P_n .

An algebraic interpretation of a loop

Lemma

Let $M \in \text{mod } \Lambda$ have minimal projective resolution

$$\cdots \rightarrow P_n \rightarrow P_{n-1} \rightarrow \cdots \rightarrow P_1 \rightarrow P_0 \rightarrow M \rightarrow 0.$$

For $n > 0$, the following are equivalent.

- 1 $\text{Ext}^n(M, S_e) \neq 0$.
- 2 $e\Lambda$ is direct summand of P_n .
- 3 $\Omega^n J e \neq \Omega^n e$, where Ω^n is n -th syzygy of M .

An algebraic interpretation of a loop

Lemma

Let $M \in \text{mod } \Lambda$ have minimal projective resolution

$$\cdots \rightarrow P_n \rightarrow P_{n-1} \rightarrow \cdots \rightarrow P_1 \rightarrow P_0 \rightarrow M \rightarrow 0.$$

For $n > 0$, the following are equivalent.

- 1 $\text{Ext}^n(M, S_e) \neq 0$.
- 2 $e\Lambda$ is direct summand of P_n .
- 3 $\Omega^n J e \neq \Omega^n e$, where Ω^n is n -th syzygy of M .

Corollary

$E(\Lambda)$ has a loop at $S_e \Leftrightarrow eJ^2e \neq eJe$.

Hochschild homology group $\mathrm{HH}_0(\Lambda)$

Definition

$$\textcircled{1} \quad [\Lambda, \Lambda] = \left\{ \sum_i (a_i b_i - b_i a_i) \mid a_i, b_i \in \Lambda \right\};$$

Hochschild homology group $\mathrm{HH}_0(\Lambda)$

Definition

- 1 $[\Lambda, \Lambda] = \{ \sum_i (a_i b_i - b_i a_i) \mid a_i, b_i \in \Lambda \} ;$
- 2 $\mathrm{HH}_0(\Lambda) = \Lambda / [\Lambda, \Lambda]$, an abelian group.

Hochschild homology group $\mathrm{HH}_0(\Lambda)$

Definition

- 1 $[\Lambda, \Lambda] = \{ \sum_i (a_i b_i - b_i a_i) \mid a_i, b_i \in \Lambda \}$;
- 2 $\mathrm{HH}_0(\Lambda) = \Lambda / [\Lambda, \Lambda]$, an abelian group.
- 3 $\mathrm{HH}_0(\Lambda)$ is called *radical-trivial* if $J \subseteq [\Lambda, \Lambda]$.

Hochschild homology group $\mathrm{HH}_0(\Lambda)$

Definition

- 1 $[\Lambda, \Lambda] = \{ \sum_i (a_i b_i - b_i a_i) \mid a_i, b_i \in \Lambda \}$;
- 2 $\mathrm{HH}_0(\Lambda) = \Lambda / [\Lambda, \Lambda]$, an abelian group.
- 3 $\mathrm{HH}_0(\Lambda)$ is called *radical-trivial* if $J \subseteq [\Lambda, \Lambda]$.

Remark

If $a, b \in \Lambda$, then $\overline{ab} = \overline{ba}$ in $\mathrm{HH}_0(\Lambda)$.

Trace of a matrix over Λ

Definition

For $A = (a_{ij}) \in M_n(\Lambda)$, one defines

$$\mathrm{tr}(A) = (a_{11} + \cdots + a_{nn}) + [\Lambda, \Lambda] \in \mathrm{HH}_0(\Lambda).$$

Trace of a matrix over Λ

Definition

For $A = (a_{ij}) \in M_n(\Lambda)$, one defines

$$\mathrm{tr}(A) = (a_{11} + \cdots + a_{nn}) + [\Lambda, \Lambda] \in \mathrm{HH}_0(\Lambda).$$

Proposition

If $A \in M_{m \times n}(\Lambda)$ and $B \in M_{n \times m}(\Lambda)$, then

$$\mathrm{tr}(AB) = \mathrm{tr}(BA).$$

Trace of endomorphisms of projective modules

Trace of endomorphisms of projective modules

Let $P = e_1\Lambda \oplus \cdots \oplus e_n\Lambda$, e_i primitive idempotent.

Trace of endomorphisms of projective modules

Let $P = e_1\Lambda \oplus \cdots \oplus e_n\Lambda$, e_i primitive idempotent.

Given $\varphi \in \text{End}_\Lambda(P)$.

Trace of endomorphisms of projective modules

Let $P = e_1\Lambda \oplus \cdots \oplus e_n\Lambda$, e_i primitive idempotent.

Given $\varphi \in \text{End}_\Lambda(P)$.

Write $\varphi = (a_{ij})_{n \times n}$, where $a_{ij} \in e_i\Lambda e_j$.

Trace of endomorphisms of projective modules

Let $P = e_1\Lambda \oplus \cdots \oplus e_n\Lambda$, e_i primitive idempotent.

Given $\varphi \in \text{End}_\Lambda(P)$.

Write $\varphi = (a_{ij})_{n \times n}$, where $a_{ij} \in e_i\Lambda e_j$.

Definition (Hattori, Stallings)

The *trace* of φ is defined to be

$$\text{tr}(\varphi) = \text{tr}((a_{ij})_{n \times n}) \in \text{HH}_0(\Lambda),$$

Trace of endomorphisms of projective modules

Let $P = e_1\Lambda \oplus \cdots \oplus e_n\Lambda$, e_i primitive idempotent.

Given $\varphi \in \text{End}_\Lambda(P)$.

Write $\varphi = (a_{ij})_{n \times n}$, where $a_{ij} \in e_i\Lambda e_j$.

Definition (Hattori, Stallings)

The *trace* of φ is defined to be

$$\text{tr}(\varphi) = \text{tr}((a_{ij})_{n \times n}) \in \text{HH}_0(\Lambda),$$

which is independent of the decomposition of P .

Example

Proposition

Let $a \in \Lambda$. Consider the left multiplication

$$a_L : \Lambda \rightarrow \Lambda : x \mapsto ax.$$

We have

$$\text{tr}(a_L) = a + [\Lambda, \Lambda].$$

Example

Proposition

Let $a \in \Lambda$. Consider the left multiplication

$$a_L : \Lambda \rightarrow \Lambda : x \mapsto ax.$$

We have

$$\text{tr}(a_L) = a + [\Lambda, \Lambda].$$

Proof. If $\Lambda = e_1\Lambda \oplus \cdots \oplus e_n\Lambda$, then $a_L = (e_i a e_j)_{n \times n}$.

Example

Proposition

Let $a \in \Lambda$. Consider the left multiplication

$$a_L : \Lambda \rightarrow \Lambda : x \mapsto ax.$$

We have

$$\text{tr}(a_L) = a + [\Lambda, \Lambda].$$

Proof. If $\Lambda = e_1\Lambda \oplus \cdots \oplus e_n\Lambda$, then $a_L = (e_i a e_j)_{n \times n}$.

$$a - \sum e_i a e_i = \sum (e_i a - e_i a e_i) = \sum [e_i, e_i a],$$

Example

Proposition

Let $a \in \Lambda$. Consider the left multiplication

$$a_L : \Lambda \rightarrow \Lambda : x \mapsto ax.$$

We have

$$\text{tr}(a_L) = a + [\Lambda, \Lambda].$$

Proof. If $\Lambda = e_1\Lambda \oplus \cdots \oplus e_n\Lambda$, then $a_L = (e_i a e_j)_{n \times n}$.

$$a - \sum e_i a e_i = \sum (e_i a - e_i a e_i) = \sum [e_i, e_i a],$$

$$\text{tr}(a_L) = \sum e_i a e_i + [\Lambda, \Lambda] = a + [\Lambda, \Lambda].$$

Trace of endomorphisms of modules of finite proj dim

Trace of endomorphisms of modules of finite proj dim

Let $M \in \text{mod } \Lambda$ have projective resolution

$$0 \rightarrow P_n \rightarrow P_{n-1} \rightarrow \cdots \rightarrow P_0 \rightarrow M \rightarrow 0.$$

Trace of endomorphisms of modules of finite proj dim

Let $M \in \text{mod } \Lambda$ have projective resolution

$$0 \rightarrow P_n \rightarrow P_{n-1} \rightarrow \cdots \rightarrow P_0 \rightarrow M \rightarrow 0.$$

For $\varphi \in \text{End}_\Lambda(M)$, construct comm. diagram

$$\begin{array}{ccccccccc} 0 & \rightarrow & P_n & \rightarrow & P_{n-1} & \rightarrow & \cdots & \rightarrow & P_0 & \rightarrow & M & \rightarrow & 0 \\ & & \varphi_n \downarrow & & \downarrow \varphi_{n-1} & & & & \varphi_0 \downarrow & & \downarrow \varphi & & \\ 0 & \rightarrow & P_n & \rightarrow & P_{n-1} & \rightarrow & \cdots & \rightarrow & P_0 & \rightarrow & M & \rightarrow & 0 \end{array}$$

Trace of endomorphisms of modules of finite proj dim

Let $M \in \text{mod } \Lambda$ have projective resolution

$$0 \rightarrow P_n \rightarrow P_{n-1} \rightarrow \cdots \rightarrow P_0 \rightarrow M \rightarrow 0.$$

For $\varphi \in \text{End}_\Lambda(M)$, construct comm. diagram

$$\begin{array}{ccccccccc} 0 & \rightarrow & P_n & \rightarrow & P_{n-1} & \rightarrow & \cdots & \rightarrow & P_0 & \rightarrow & M & \rightarrow & 0 \\ & & \varphi_n \downarrow & & \downarrow \varphi_{n-1} & & & & \varphi_0 \downarrow & & \downarrow \varphi & & \\ 0 & \rightarrow & P_n & \rightarrow & P_{n-1} & \rightarrow & \cdots & \rightarrow & P_0 & \rightarrow & M & \rightarrow & 0 \end{array}$$

Definition (Lenzing)

$$\text{tr}(\varphi) = \sum_{i=0}^n (-1)^i \text{tr}(\varphi_i) \in \text{HH}_0(\Lambda).$$

Lenzing's result

Remark

If $\text{gdim}(\Lambda) < \infty$, then $\text{tr}(\varphi)$ is defined for every endomorphism $\varphi \in \text{mod } \Lambda$.

Lenzing's result

Remark

If $\text{gdim}(\Lambda) < \infty$, then $\text{tr}(\varphi)$ is defined for every endomorphism $\varphi \in \text{mod } \Lambda$.

Theorem (Lenzing)

If $\text{gdim}(\Lambda) < \infty$, then $\text{HH}_0(\Lambda)$ is radical-trivial.

Localizing Hochschild homology

Write $\Lambda_e = \Lambda/\Lambda(1 - e)\Lambda$.

Localizing Hochschild homology

Write $\Lambda_e = \Lambda/\Lambda(1 - e)\Lambda$.

Consider the ring homomorphism

$$\pi_e : \Lambda \rightarrow \Lambda_e : x \mapsto x + \Lambda(1 - e)\Lambda.$$

Localizing Hochschild homology

Write $\Lambda_e = \Lambda/\Lambda(1 - e)\Lambda$.

Consider the ring homomorphism

$$\pi_e : \Lambda \rightarrow \Lambda_e : x \mapsto x + \Lambda(1 - e)\Lambda.$$

It induces a group homomorphism

$$H_e : \mathrm{HH}_0(\Lambda) \rightarrow \mathrm{HH}_0(\Lambda_e) : x + [\Lambda, \Lambda] \mapsto \pi_e(x) + [\Lambda_e, \Lambda_e].$$

Localizing Hochschild homology

Write $\Lambda_e = \Lambda/\Lambda(1 - e)\Lambda$.

Consider the ring homomorphism

$$\pi_e : \Lambda \rightarrow \Lambda_e : x \mapsto x + \Lambda(1 - e)\Lambda.$$

It induces a group homomorphism

$$H_e : \mathrm{HH}_0(\Lambda) \rightarrow \mathrm{HH}_0(\Lambda_e) : x + [\Lambda, \Lambda] \mapsto \pi_e(x) + [\Lambda_e, \Lambda_e].$$

Remark

For any $a \in \Lambda(1 - e)\Lambda$, we have

$$H_e(a + [\Lambda, \Lambda]) = 0.$$

e-trace of endomorphisms of projective modules

Let $P \in \text{mod } \Lambda$ be projective.

e-trace of endomorphisms of projective modules

Let $P \in \text{mod } \Lambda$ be projective.

Definition

For $\varphi \in \text{End}_\Lambda(P)$, we define its *e-trace* by

$$\text{tr}_e(\varphi) = H_e(\text{tr}(\varphi)) \in \text{HH}_0(\Lambda_e).$$

e-trace of endomorphisms of projective modules

Let $P \in \text{mod } \Lambda$ be projective.

Definition

For $\varphi \in \text{End}_\Lambda(P)$, we define its *e-trace* by

$$\text{tr}_e(\varphi) = H_e(\text{tr}(\varphi)) \in \text{HH}_0(\Lambda_e).$$

Proposition

If $e\Lambda$ is not a direct summand of P , then

$$\text{tr}_e(\varphi) = 0.$$

e-trace of endomorphisms of projective modules

Let $P \in \text{mod } \Lambda$ be projective.

Definition

For $\varphi \in \text{End}_\Lambda(P)$, we define its *e-trace* by

$$\text{tr}_e(\varphi) = H_e(\text{tr}(\varphi)) \in \text{HH}_0(\Lambda_e).$$

Proposition

If $e\Lambda$ is not a direct summand of P , then

$$\text{tr}_e(\varphi) = 0.$$

e-bounded modules

Definition

A module $M \in \text{mod } \Lambda$ is called *e-bounded* if it has projective resolution

$$\cdots \longrightarrow P_i \longrightarrow P_{i-1} \longrightarrow \cdots \longrightarrow P_0 \longrightarrow M \longrightarrow 0,$$

$e\Lambda$ is not summand of P_i , for $i \gg 0$.

e-bounded modules

Definition

A module $M \in \text{mod } \Lambda$ is called *e-bounded* if it has projective resolution

$$\cdots \longrightarrow P_i \longrightarrow P_{i-1} \longrightarrow \cdots \longrightarrow P_0 \longrightarrow M \longrightarrow 0,$$

$e\Lambda$ is not summand of P_i , for $i \gg 0$.

Remark

- 1 M is e-bounded $\Leftrightarrow \text{Ext}^i(M, S_e) = 0$, for $i \gg 0$.

e-bounded modules

Definition

A module $M \in \text{mod } \Lambda$ is called *e-bounded* if it has projective resolution

$$\cdots \longrightarrow P_i \longrightarrow P_{i-1} \longrightarrow \cdots \longrightarrow P_0 \longrightarrow M \longrightarrow 0,$$

$e\Lambda$ is not summand of P_i , for $i \gg 0$.

Remark

- 1 M is *e-bounded* $\Leftrightarrow \text{Ext}^i(M, S_e) = 0$, for $i \gg 0$.
- 2 $\text{idim } S_e < \infty \Rightarrow$ every $M \in \text{mod } \Lambda$ is *e-bounded*.

e-trace of endomorphisms of e-bounded modules

Let M have e-bounded projective resolution

$$\cdots \longrightarrow P_i \longrightarrow P_{i-1} \longrightarrow \cdots \longrightarrow P_0 \longrightarrow M \longrightarrow 0.$$

e-trace of endomorphisms of e-bounded modules

Let M have e-bounded projective resolution

$$\cdots \rightarrow P_i \rightarrow P_{i-1} \rightarrow \cdots \rightarrow P_0 \rightarrow M \rightarrow 0.$$

For $\varphi \in \text{End}_\Lambda(M)$, construct comm. diagram

$$\begin{array}{ccccccc} \cdots & \rightarrow & P_i & \rightarrow & P_{i-1} & \rightarrow & \cdots \rightarrow P_0 \rightarrow M \rightarrow 0 \\ & & \varphi_i \downarrow & & \downarrow \varphi_{i-1} & & \varphi_0 \downarrow & \downarrow \varphi \\ \cdots & \rightarrow & P_i & \rightarrow & P_{i-1} & \rightarrow & \cdots \rightarrow P_0 \rightarrow M \rightarrow 0. \end{array}$$

e-trace of endomorphisms of e-bounded modules

Let M have e-bounded projective resolution

$$\cdots \rightarrow P_i \rightarrow P_{i-1} \rightarrow \cdots \rightarrow P_0 \rightarrow M \rightarrow 0.$$

For $\varphi \in \text{End}_\Lambda(M)$, construct comm. diagram

$$\begin{array}{ccccccc} \cdots & \rightarrow & P_i & \rightarrow & P_{i-1} & \rightarrow & \cdots \rightarrow P_0 \rightarrow M \rightarrow 0 \\ & & \varphi_i \downarrow & & \downarrow \varphi_{i-1} & & \varphi_0 \downarrow & \downarrow \varphi \\ \cdots & \rightarrow & P_i & \rightarrow & P_{i-1} & \rightarrow & \cdots \rightarrow P_0 \rightarrow M \rightarrow 0. \end{array}$$

Define

$$\text{tr}_e(\varphi) = \sum_{i=0}^{\infty} (-1)^i \text{tr}_e(\varphi_i) \in \text{HH}_0(\Lambda_e).$$

Additivity of the e-trace

Lemma

Let $\text{mod } \Lambda$ have comm. diagram with exact rows

$$\begin{array}{ccccccccc}
 0 & \longrightarrow & L & \xrightarrow{u} & M & \xrightarrow{v} & N & \longrightarrow & 0 \\
 & & \downarrow \theta & & \downarrow \varphi & & \downarrow \psi & & \\
 0 & \longrightarrow & L & \xrightarrow{u} & M & \xrightarrow{v} & N & \longrightarrow & 0.
 \end{array}$$

Additivity of the e -trace

Lemma

Let $\text{mod } \Lambda$ have comm. diagram with exact rows

$$\begin{array}{ccccccc}
 0 & \longrightarrow & L & \xrightarrow{u} & M & \xrightarrow{v} & N \longrightarrow 0 \\
 & & \theta \downarrow & & \downarrow \varphi & & \downarrow \psi \\
 0 & \longrightarrow & L & \xrightarrow{u} & M & \xrightarrow{v} & N \longrightarrow 0.
 \end{array}$$

If any two of L, M, N are e -bounded, then all are e -bounded with

$$\text{tr}_e(\varphi) = \text{tr}_e(\theta) + \text{tr}_e(\psi).$$

e-bounded filtration

Definition

An *e-bounded filtration* for $M \in \text{mod } \Lambda$ is a series

$$0 = M_{r+1} \subset M_r \subset \cdots \subset M_1 \subset M_0 = M$$

of submodules of M such that

$$M_i/M_{i+1} \text{ is } e\text{-bounded, for } i = 0, 1, \dots, r.$$

e-bounded filtration

Definition

An *e-bounded filtration* for $M \in \text{mod } \Lambda$ is a series

$$0 = M_{r+1} \subset M_r \subset \cdots \subset M_1 \subset M_0 = M$$

of submodules of M such that

$$M_i/M_{i+1} \text{ is } e\text{-bounded, for } i = 0, 1, \dots, r.$$

Remark

M admits e -bounded filtration $\Rightarrow M$ is e -bounded.

Lemma

Let $\varphi \in \text{End}(M)$ with e -bounded filtration

$$0 = M_{r+1} \subset M_r \subset \cdots \subset M_1 \subset M_0 = M.$$

Lemma

Let $\varphi \in \text{End}(M)$ with e -bounded filtration

$$0 = M_{r+1} \subset M_r \subset \cdots \subset M_1 \subset M_0 = M.$$

If $\varphi(M_i) \subseteq M_{i+1}$, $i = 0, \dots, r$, then $\text{tr}_e(\varphi) = 0$.

Lemma

Let $\varphi \in \text{End}(M)$ with e -bounded filtration

$$0 = M_{r+1} \subset M_r \subset \cdots \subset M_1 \subset M_0 = M.$$

If $\varphi(M_i) \subseteq M_{i+1}$, $i = 0, \dots, r$, then $\text{tr}_e(\varphi) = 0$.

Proof. Let $\varphi_i = \varphi|_{M_i} \Rightarrow \exists$ comm. diagram with exact rows

$$\begin{array}{ccccccc}
 0 & \longrightarrow & M_{i+1} & \longrightarrow & M_i & \longrightarrow & M_i/M_{i+1} \longrightarrow 0 \\
 & & \varphi_{i+1} \downarrow & & \downarrow \varphi_i & & \downarrow 0 \\
 0 & \longrightarrow & M_{i+1} & \longrightarrow & M_i & \longrightarrow & M_i/M_{i+1} \longrightarrow 0.
 \end{array}$$

Lemma

Let $\varphi \in \text{End}(M)$ with e -bounded filtration

$$0 = M_{r+1} \subset M_r \subset \cdots \subset M_1 \subset M_0 = M.$$

If $\varphi(M_i) \subseteq M_{i+1}$, $i = 0, \dots, r$, then $\text{tr}_e(\varphi) = 0$.

Proof. Let $\varphi_i = \varphi|_{M_i} \Rightarrow \exists$ comm. diagram with exact rows

$$\begin{array}{ccccccc} 0 & \longrightarrow & M_{i+1} & \longrightarrow & M_i & \longrightarrow & M_i/M_{i+1} \longrightarrow 0 \\ & & \varphi_{i+1} \downarrow & & \downarrow \varphi_i & & \downarrow 0 \\ 0 & \longrightarrow & M_{i+1} & \longrightarrow & M_i & \longrightarrow & M_i/M_{i+1} \longrightarrow 0. \end{array}$$

Lemma

Let $\varphi \in \text{End}(M)$ with e -bounded filtration

$$0 = M_{r+1} \subset M_r \subset \cdots \subset M_1 \subset M_0 = M.$$

If $\varphi(M_i) \subseteq M_{i+1}$, $i = 0, \dots, r$, then $\text{tr}_e(\varphi) = 0$.

Proof. Let $\varphi_i = \varphi|_{M_i} \Rightarrow \exists$ comm. diagram with exact rows

$$\begin{array}{ccccccc} 0 & \longrightarrow & M_{i+1} & \longrightarrow & M_i & \longrightarrow & M_i/M_{i+1} \longrightarrow 0 \\ & & \varphi_{i+1} \downarrow & & \downarrow \varphi_i & & \downarrow 0 \\ 0 & \longrightarrow & M_{i+1} & \longrightarrow & M_i & \longrightarrow & M_i/M_{i+1} \longrightarrow 0. \end{array}$$

Hence, $\text{tr}_e(\varphi_i) = \text{tr}_e(\varphi_{i+1})$, for $i = 0, 1, \dots, r$.

Lemma

Let $\varphi \in \text{End}(M)$ with e -bounded filtration

$$0 = M_{r+1} \subset M_r \subset \cdots \subset M_1 \subset M_0 = M.$$

If $\varphi(M_i) \subseteq M_{i+1}$, $i = 0, \dots, r$, then $\text{tr}_e(\varphi) = 0$.

Proof. Let $\varphi_i = \varphi|_{M_i} \Rightarrow \exists$ comm. diagram with exact rows

$$\begin{array}{ccccccc} 0 & \longrightarrow & M_{i+1} & \longrightarrow & M_i & \longrightarrow & M_i/M_{i+1} \longrightarrow 0 \\ & & \varphi_{i+1} \downarrow & & \downarrow \varphi_i & & \downarrow 0 \\ 0 & \longrightarrow & M_{i+1} & \longrightarrow & M_i & \longrightarrow & M_i/M_{i+1} \longrightarrow 0. \end{array}$$

Hence, $\text{tr}_e(\varphi_i) = \text{tr}_e(\varphi_{i+1})$, for $i = 0, 1, \dots, r$.

In particular, $\text{tr}_e(\varphi) = \text{tr}_e(\varphi_{r+1}) = \text{tr}_e(0) = 0$.

Main result on the local HH_0

Theorem

If $\mathrm{idim} S_e < \infty$, then $\mathrm{HH}_0(\Lambda_e)$ is radical-trivial.

Main result on the local HH_0

Theorem

If $\mathrm{idim} S_e < \infty$, then $\mathrm{HH}_0(\Lambda_e)$ is radical-trivial.

Proof. Let $\bar{a} = a + \Lambda(1 - e)\Lambda \in J(\Lambda_e)$, where $a \in J$.

Main result on the local HH_0

Theorem

If $\mathrm{idim} S_e < \infty$, then $\mathrm{HH}_0(\Lambda_e)$ is radical-trivial.

Proof. Let $\bar{a} = a + \Lambda(1 - e)\Lambda \in J(\Lambda_e)$, where $a \in J$.

Then, $a^{n+1} = 0$ for some $n \geq 0$.

Main result on the local HH_0

Theorem

If $\mathrm{idim} S_e < \infty$, then $\mathrm{HH}_0(\Lambda_e)$ is radical-trivial.

Proof. Let $\bar{a} = a + \Lambda(1 - e)\Lambda \in J(\Lambda_e)$, where $a \in J$.

Then, $a^{n+1} = 0$ for some $n \geq 0$.

Since $\mathrm{idim} S_e < \infty$, we have e -bounded filtration

$$0 = a^{n+1}\Lambda \subseteq a^n\Lambda \subseteq \cdots \subseteq a\Lambda \subseteq \Lambda.$$

Main result on the local HH_0

Theorem

If $\mathrm{idim} S_e < \infty$, then $\mathrm{HH}_0(\Lambda_e)$ is radical-trivial.

Proof. Let $\bar{a} = a + \Lambda(1 - e)\Lambda \in J(\Lambda_e)$, where $a \in J$.

Then, $a^{n+1} = 0$ for some $n \geq 0$.

Since $\mathrm{idim} S_e < \infty$, we have e -bounded filtration

$$0 = a^{n+1}\Lambda \subseteq a^n\Lambda \subseteq \cdots \subseteq a\Lambda \subseteq \Lambda.$$

Consider $a_L : \Lambda \rightarrow \Lambda : x \mapsto ax$.

Main result on the local HH_0

Theorem

If $\mathrm{idim} S_e < \infty$, then $\mathrm{HH}_0(\Lambda_e)$ is radical-trivial.

Proof. Let $\bar{a} = a + \Lambda(1 - e)\Lambda \in J(\Lambda_e)$, where $a \in J$.

Then, $a^{n+1} = 0$ for some $n \geq 0$.

Since $\mathrm{idim} S_e < \infty$, we have e -bounded filtration

$$0 = a^{n+1}\Lambda \subseteq a^n\Lambda \subseteq \cdots \subseteq a\Lambda \subseteq \Lambda.$$

Consider $a_L : \Lambda \rightarrow \Lambda : x \mapsto ax$.

Since $a_L(a^i\Lambda) \subseteq a^{i+1}\Lambda$, we have $\mathrm{tr}_e(a_L) = \bar{0} + [\Lambda_e, \Lambda_e]$.

Main result on the local HH_0

Theorem

If $\mathrm{idim} S_e < \infty$, then $\mathrm{HH}_0(\Lambda_e)$ is radical-trivial.

Proof. Let $\bar{a} = a + \Lambda(1 - e)\Lambda \in J(\Lambda_e)$, where $a \in J$.

Then, $a^{n+1} = 0$ for some $n \geq 0$.

Since $\mathrm{idim} S_e < \infty$, we have e -bounded filtration

$$0 = a^{n+1}\Lambda \subseteq a^n\Lambda \subseteq \cdots \subseteq a\Lambda \subseteq \Lambda.$$

Consider $a_L : \Lambda \rightarrow \Lambda : x \mapsto ax$.

Since $a_L(a^i\Lambda) \subseteq a^{i+1}\Lambda$, we have $\mathrm{tr}_e(a_L) = \bar{0} + [\Lambda_e, \Lambda_e]$.

On the other hand,

$$\mathrm{tr}_e(a_L) = H_e(\mathrm{tr}(a_L)) = H_e(a + [\Lambda, \Lambda]) = \bar{a} + [\Lambda_e, \Lambda_e].$$

Main result on the local HH_0

Theorem

If $\mathrm{idim} S_e < \infty$, then $\mathrm{HH}_0(\Lambda_e)$ is radical-trivial.

Proof. Let $\bar{a} = a + \Lambda(1 - e)\Lambda \in J(\Lambda_e)$, where $a \in J$.

Then, $a^{n+1} = 0$ for some $n \geq 0$.

Since $\mathrm{idim} S_e < \infty$, we have e -bounded filtration

$$0 = a^{n+1}\Lambda \subseteq a^n\Lambda \subseteq \cdots \subseteq a\Lambda \subseteq \Lambda.$$

Consider $a_L : \Lambda \rightarrow \Lambda : x \mapsto ax$.

Since $a_L(a^i\Lambda) \subseteq a^{i+1}\Lambda$, we have $\mathrm{tr}_e(a_L) = \bar{0} + [\Lambda_e, \Lambda_e]$.

On the other hand,

$$\mathrm{tr}_e(a_L) = H_e(\mathrm{tr}(a_L)) = H_e(a + [\Lambda, \Lambda]) = \bar{a} + [\Lambda_e, \Lambda_e].$$

That is, $\bar{a} \in [\Lambda_e, \Lambda_e]$.

Basic primitive idempotent

Call e *basic* if $e\Lambda \oplus e\Lambda$ is not direct summand of Λ .

Basic primitive idempotent

Call e *basic* if $e\Lambda \oplus e\Lambda$ is not direct summand of Λ .

Lemma

If e is basic, then \exists ring homomorphism

$$\delta_e : L_e \rightarrow e\Lambda e / eJ^2e : a + L(1 - e)L \mapsto eae + eJ^2e.$$

Basic primitive idempotent

Call e *basic* if $e\Lambda \oplus e\Lambda$ is not direct summand of Λ .

Lemma

If e is basic, then \exists ring homomorphism

$$\delta_e : L_e \rightarrow e\Lambda e / eJ^2e : a + L(1 - e)L \mapsto eae + eJ^2e.$$

Moreover, if $e\Lambda e / eJ^2e$ is commutative, then δ_e vanishes on $[L_e, L_e]$.

Basic primitive idempotent

Call e *basic* if $e\Lambda \oplus e\Lambda$ is not direct summand of Λ .

Lemma

If e is basic, then \exists ring homomorphism

$$\delta_e : L_e \rightarrow e\Lambda e / eJ^2e : a + L(1 - e)L \mapsto eae + eJ^2e.$$

Moreover, if $e\Lambda e / eJ^2e$ is commutative, then δ_e vanishes on $[L_e, L_e]$.

Proof. e basic $\Rightarrow e\Lambda(1 - e), (1 - e)\Lambda e \subseteq J$.

Basic primitive idempotent

Call e *basic* if $e\Lambda \oplus e\Lambda$ is not direct summand of Λ .

Lemma

If e is basic, then \exists ring homomorphism

$$\delta_e : L_e \rightarrow e\Lambda e / eJ^2e : a + L(1 - e)L \mapsto eae + eJ^2e.$$

Moreover, if $e\Lambda e / eJ^2e$ is commutative, then δ_e vanishes on $[L_e, L_e]$.

Proof. e basic $\Rightarrow e\Lambda(1 - e), (1 - e)\Lambda e \subseteq J$.

As a consequence, $e\Lambda(1 - e)\Lambda e \subseteq eJ^2e$.

Main result for artinian rings

Theorem

Let e be basic such that $e\Lambda e/eJ^2e$ is commutative.

Main result for artinian rings

Theorem

*Let e be basic such that $e\Lambda e/eJ^2e$ is commutative.
If $\text{idim}(S_e) < \infty$, then $E(\Lambda)$ has no loop at S_e .*

Main result for artinian rings

Theorem

*Let e be basic such that $e\Lambda e/eJ^2e$ is commutative.
If $\text{idim}(S_e) < \infty$, then $E(\Lambda)$ has no loop at S_e .*

Main result for artinian rings

Theorem

*Let e be basic such that $e\Lambda e/eJ^2e$ is commutative.
If $\text{idim}(S_e) < \infty$, then $E(\Lambda)$ has no loop at S_e .*

Proof. Consider

$$\delta_e : \Lambda_e \rightarrow e\Lambda e/eJ^2e : x + \Lambda(1 - e)\Lambda \mapsto exe + eJ^2e.$$

Main result for artinian rings

Theorem

*Let e be basic such that $e\Lambda e/eJ^2e$ is commutative.
If $\text{idim}(S_e) < \infty$, then $E(\Lambda)$ has no loop at S_e .*

Proof. Consider

$$\delta_e : \Lambda_e \rightarrow e\Lambda e/eJ^2e : x + \Lambda(1 - e)\Lambda \mapsto exe + eJ^2e.$$

If $\text{idim}(S) < \infty$, then $\text{HH}_0(\Lambda_e)$ is radical-trivial.

Main result for artinian rings

Theorem

*Let e be basic such that $e\Lambda e/eJ^2e$ is commutative.
If $\text{idim}(S_e) < \infty$, then $E(\Lambda)$ has no loop at S_e .*

Proof. Consider

$$\delta_e : \Lambda_e \rightarrow e\Lambda e/eJ^2e : x + \Lambda(1 - e)\Lambda \mapsto exe + eJ^2e.$$

If $\text{idim}(S) < \infty$, then $\text{HH}_0(\Lambda_e)$ is radical-trivial.

Let $a \in eJe \Rightarrow a + \Lambda(1 - e)\Lambda \in J(L_e) \subseteq [L_e, L_e]$

Main result for artinian rings

Theorem

*Let e be basic such that $e\Lambda e/eJ^2e$ is commutative.
If $\text{idim}(S_e) < \infty$, then $E(\Lambda)$ has no loop at S_e .*

Proof. Consider

$$\delta_e : \Lambda_e \rightarrow e\Lambda e/eJ^2e : x + \Lambda(1 - e)\Lambda \mapsto exe + eJ^2e.$$

If $\text{idim}(S) < \infty$, then $\text{HH}_0(\Lambda_e)$ is radical-trivial.

Let $a \in eJe \Rightarrow a + \Lambda(1 - e)\Lambda \in J(L_e) \subseteq [L_e, L_e]$

$\Rightarrow \delta_e(a + \Lambda(1 - e)\Lambda) = 0 \Rightarrow a = eae \in eJ^2e.$

Main result for artinian rings

Theorem

*Let e be basic such that $e\Lambda e/eJ^2e$ is commutative.
 If $\text{idim}(S_e) < \infty$, then $E(\Lambda)$ has no loop at S_e .*

Proof. Consider

$$\delta_e : \Lambda_e \rightarrow e\Lambda e/eJ^2e : x + \Lambda(1 - e)\Lambda \mapsto exe + eJ^2e.$$

If $\text{idim}(S) < \infty$, then $\text{HH}_0(\Lambda_e)$ is radical-trivial.

Let $a \in eJe \Rightarrow a + \Lambda(1 - e)\Lambda \in J(L_e) \subseteq [L_e, L_e]$

$\Rightarrow \delta_e(a + \Lambda(1 - e)\Lambda) = 0 \Rightarrow a = eae \in eJ^2e.$

Thus, $eJe = eJ^2e \Rightarrow \text{Ext}^1(S_e, S_e) = 0.$

Application to finite dimensional algebras

Theorem

Let Λ be a finite dimensional algebra over a field k .

Application to finite dimensional algebras

Theorem

*Let Λ be a finite dimensional algebra over a field k .
Let S be simple Λ -module of dimension one.*

Application to finite dimensional algebras

Theorem

*Let Λ be a finite dimensional algebra over a field k .
Let S be simple Λ -module of dimension one.
If $\text{pdim}(S) < \infty$ or $\text{idim}(S) < \infty$, then $E(\Lambda)$ has
no loop at S .*

Application to finite dimensional algebras

Theorem

*Let Λ be a finite dimensional algebra over a field k .
Let S be simple Λ -module of dimension one.
If $\text{pdim}(S) < \infty$ or $\text{idim}(S) < \infty$, then $E(\Lambda)$ has
no loop at S .*

Proof. Let $S = S_e \Rightarrow e$ is basic with $e\Lambda e = ke + eJe$.

Application to finite dimensional algebras

Theorem

*Let Λ be a finite dimensional algebra over a field k .
Let S be simple Λ -module of dimension one.
If $\text{pdim}(S) < \infty$ or $\text{idim}(S) < \infty$, then $E(\Lambda)$ has
no loop at S .*

Proof. Let $S = S_e \Rightarrow e$ is basic with $e\Lambda e = ke + eJe$.
 $\Rightarrow e\Lambda e/eJ^2e$ is commutative.

Application to finite dimensional algebras

Theorem

*Let Λ be a finite dimensional algebra over a field k .
Let S be simple Λ -module of dimension one.
If $\text{pdim}(S) < \infty$ or $\text{idim}(S) < \infty$, then $E(\Lambda)$ has
no loop at S .*

Proof. Let $S = S_e \Rightarrow e$ is basic with $e\Lambda e = ke + eJe$.
 $\Rightarrow e\Lambda e/eJ^2e$ is commutative.

- $\text{idim}(S) < \infty \Rightarrow \text{Ext}^1(S, S) = 0$.

Application to finite dimensional algebras

Theorem

*Let Λ be a finite dimensional algebra over a field k .
Let S be simple Λ -module of dimension one.
If $\text{pdim}(S) < \infty$ or $\text{idim}(S) < \infty$, then $E(\Lambda)$ has
no loop at S .*

Proof. Let $S = S_e \Rightarrow e$ is basic with $e\Lambda e = ke + eJe$.
 $\Rightarrow e\Lambda e/eJ^2e$ is commutative.

- $\text{idim}(S) < \infty \Rightarrow \text{Ext}^1(S, S) = 0$.
- $\text{pdim}(S) < \infty \Rightarrow D(S) \in \text{mod}\Lambda^{\text{op}}$ is 1-dimensional with
 $\text{idim}D(S) < \infty \Rightarrow E(\Lambda^{\text{op}})$ has no loop at $D(S)$.

Application to finite dimensional algebras

Theorem

*Let Λ be a finite dimensional algebra over a field k .
Let S be simple Λ -module of dimension one.
If $\text{pdim}(S) < \infty$ or $\text{idim}(S) < \infty$, then $E(\Lambda)$ has
no loop at S .*

Proof. Let $S = S_e \Rightarrow e$ is basic with $e\Lambda e = ke + eJe$.
 $\Rightarrow e\Lambda e/eJ^2e$ is commutative.

- $\text{idim}(S) < \infty \Rightarrow \text{Ext}^1(S, S) = 0$.
- $\text{pdim}(S) < \infty \Rightarrow D(S) \in \text{mod}\Lambda^{\text{op}}$ is 1-dimensional with
 $\text{idim}D(S) < \infty \Rightarrow E(\Lambda^{\text{op}})$ has no loop at $D(S)$.
 $\Rightarrow E(\Lambda)$ has no loop at S .

Main Result

Theorem (Igusa, Liu, Paquette, 2011)

The Strong No Loop Conjecture holds for finite dimensional algebra over an algebraically closed field.

Main Result

Theorem (Igusa, Liu, Paquette, 2011)

The Strong No Loop Conjecture holds for finite dimensional algebra over an algebraically closed field.

Proof. We may assume that Λ is basic.

Main Result

Theorem (Igusa, Liu, Paquette, 2011)

The Strong No Loop Conjecture holds for finite dimensional algebra over an algebraically closed field.

Proof. We may assume that Λ is basic.

Then every simple Λ -module is one dimensional.

Status quo for artinian rings

- ① The No Loop Conjecture remains open for finite dimensional algebras over a general field, in particular, open for artinian rings.

Status quo for artinian rings

- 1 The No Loop Conjecture remains open for finite dimensional algebras over a general field, in particular, open for artinian rings.
- 2 More advanced technique is needed, for instance, AR-theory in $D^b(\text{mod } \Lambda)$.

Extension Conjecture

Let S be a simple Λ -module.

Extension Conjecture

Let S be a simple Λ -module.

Conjecture

- 1 If $\text{Ext}^1(S, S) \neq 0$, then $\text{Ext}^n(S, S) \neq 0$ for infinitely many n .

Extension Conjecture

Let S be a simple Λ -module.

Conjecture

- 1 *If $\text{Ext}^1(S, S) \neq 0$, then $\text{Ext}^n(S, S) \neq 0$ for infinitely many n .*
- 2 *Let S have a minimal projective resolution*

$$\dots \longrightarrow P_n \longrightarrow \dots \longrightarrow P_1 \longrightarrow P_0 \longrightarrow S \longrightarrow 0.$$

If P_0 is direct summand of P_1 , then P_0 is direct summand of P_n for infinitely many n .